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M AE=X0
M Yy FdH Zat
& MEES 2t (&9 HM
_ _ _ AT
SAN-ZH-SA(FA) - NFAY - BES (il & OH ‘Oﬂ/i\_Fo” Hlw &2
ke 30,607,486 26,582,083 4,025,403
= 14,109,973
= 8,888,299
[ 6,073,214
£ 1,536,000
A2 XMA 7= 31,000 31,100 A100
201 et 15,000 15,100 A 100
01 AtR2teld] 10,000 9,600 400
Ot 23 &85 S 10,000
03 A2 HI 5,000 5,500 A500
Ou2eX A& S 5,000
202 O] 16,000 16,000 0
01 2o 16,000 16,000 0
Otsnges s 4228 16,000
=== ONEDNE.! 4,242,201 2,263,865 1,978,336
= 2,911,124
< 1,331,077
201 et 10,000 5,000 5,000
= 4,000
< 6,000
01 AtR2teld] 10,000 5,000 5,000
OMEEZZAE 222 7Y S 10,000
= 4,000
< 6,000
206 M= Hl 1,000 0 1,000
= 400
< 600
01 M=Hl 1,000 0 1,000
OdEEMN 357 1,000
= 400
[ 600
308 AHXIEHSOIA 3,274,448 1,846,388 1,428,060
= 2,258,240
< 1,016,208
01 MXEHINEEXS 3,274,448 1,846,388 1,428,060
OFiE=—3=PN 5,645,600, 000 *58% 3,274,448
= 2,258,240
< 1,016,208
403 A XIEHHSXH=01H 896,753 412,477 484,276
= 618,484
[ 278,269
01 MXSHMA2E = 896,753 412,477 484,276
OFag=—3= PN 1,546, 125,800 *58% 896,753
= 618,484
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1,533,366

1,152,613
380,753

1,190,506

342,860
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32,918
32,918

43,480

A 10,562

01

W

32,918

32,918
32,918

43,480

A 10,562

308

o

1,474,708

1,099,895
374,813

1,029,019

445,689

01

o

1,474,708
1,474,708

1,099,895
374,813

1,029,019

445,689

403

o

25,740

19,800
5,940

118,007

A92,267

01

W

25,740

25,740

19,800
5,940

118,007

AN92,267

H o

10,168,901

8,888,299
1,280,602

6,488,583

3,680,318
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H o

9,844

7,875
1,969

11,250

A1,406

01

M o

9,844
9,844

7,875
1,969

11,250

A 1,406

403

H o

10,159,057

8,880,424
1,278,633

6,477,333

3,681,724

01

10,159,057
10, 149,057

6,477,333

3,681,724




2 M =sX
A AdY ZHH 25
e eS| (&9 HM
_ _ _ AT
2N -3 - c2(3H) - NEME - HES 0] AFCH ‘Oﬂ/i\_Fo” Hns
s 8,880,424
= 1,268,633
OAR2 AdTIHA 10,000
AP AL X & 12,185,224 12,318,731 A~ 133,507
= 9,999,236
= 2,185,988
307 QI2t0l A 300,631 441,314 A 140,683
= 210,442
= 90, 189
05 QIZtRE= 300,631 441,314 A 140,683
OATE ALY EtE S ™o &t 300,631
= 210,442
< 90, 189
403 XXM SK=201H 11,884,593 11,877,417 7,176
= 9,788,794
= 2,095,799
01 AXISMAESE=X 11,884,593 11,877,417 7,176
OALEAS 11,851,450
= 9,761,500
== 2,089,950
Outed =& 33,143
= 27,294
= 5,849
MESRGHED] Xt 1,920,000 1,650,000 270,000
= 384,000
£ 1,536,000
201 Et29H| 1,920,000 1,650,000 270,000
= 384,000
2 1,536,000
01 AtR2t2ldl 1,920,000 1,650,000 270,000
OKERGED| Xt 1,920,000
< 384,000
£ 1,536,000
M= 2ZAIA - AFEH KA 446,794 602,916 A 156,122
308 AXIHMSOIN 317,250 297,000 20,250
01 AXHMBAEXZ 317,250 297,000 20,250
OUERIZAIE 2HXA
000& *430H x150 *10% 290,250
OM=2E20| 249 27,000
403 AXISHHSK=201H 129,544 305,916 A176,372
01 AMXESMA2EXR 129,544 305,916 N176,372
O’r= &SIt 34,000,000& *11CH*20% 74,800
ONtelEs ABEAEX 1,040,000 * 159CH *20% 33,072
OAMZXIeolE 260, 000& *33CH *20% 1,716




A ME =X
HE: oo AWM s
& MEES 2t (&9 HM
SH-EH . O3 - MBAY - BAS 0l &b o Soe HRZ2
OdlEse 65,000 *304CH*20% 3,952
O2Z2 X OFLH & 1,600& 50,0127 *20% 16,004
UQDMA XS 25,000 25,000 0
307 QIz2to| A 25,000 25,000 0
02 SI2ZtZAE X 25,000 25,000 0
OLDA 25,000
AR 22| K2 16,000 115,920 A 99,920
= 8,000
== 8,000
201 LEH2AH| 8,000 8,000 0
01 At Zeltl 8,000 8,000 0
O X2 9I3g &9 8,000
202 (4 8,000 0 8,000
= 8,000
01 2| 8,000 0 8,000
OAbX 22| 8,000
= 8,000
M MHIA S0 Q12 HH|(Z2) 39,000 0 39,000
= 39,000
308 ArXIEHAISOIA 39,000 0 39,000
= 39,000
01 MXSHNENEXTS 39,000 0 39,000
O&E AHIAZ0F 21| 39,000
= 39,000
AENE BY 53,793,589 54,742,347 N948,758
= 44,627,164
= 1,188,000
= 7,978,425
OIS AMEZIAAE XA 68,094 24,184 43,910
= 52,380
= 15,714
308 XHXIEHSOIH 68,094 24,184 43,910
= 52,380
= 15,714
01 IXSHHEAMNBEEXZ 68,094 24,184 43,910
ool MYAANE FH4 68,094
= 52,380
== 15,714
AEESIIMA XS 3,037,613 3,037,613 0
= 3,037,613
401 AIEHBIYL 20| 3,037,613 3,037,613 0
= 3,037,613
01 Al&H| 3,027,213 3,027,213 0




A ME=X

Hu: ool AM U3
ool ARE sS4 EERE]
_ _ _ Muo
SA - SR(E) - HRAY - BES 01l &4 24 i HIRE

OXEUE RBMA 3,027,213
= 3,027,213

03 Al&= 0| 10,400 10,400 0
OULRML U £TXE 10,400
= 10,400

FaAY X 10,402,895 10,692,547 ~289,652
= 8,509,596
[ 1,893,299

201 Yer2%y| 4,500 4,500 0

01 AtR2ell 4,500 4,500 0
OAl=Y 2 IR A S| 4,500

202 01| 10,000 10,000 0
= 10,000

01 2ot 10,000 10,000 0
OMBNHTA LUK AHF 22 10,000
= 10,000

403 RXISHS X0l H 10,388,395 10,678,047 289,652
= 8,499,596
[ 1,888,799

01 MXISHR=EE 10,388,395 10,678,047 ~289,652
OXAY 10,388,395
= 8,499,596
= 1,888,799

QBMAIIBES XIS 35,890 191,400 A 155,510
= 28,200
[ 7,690

403 XX SIS X0 H 35,890 191,400 A 155,510
= 28,200
[ 7,690

01 MXISHR=EE 35,890 191,400 A 155,510
ORSMAI| B XA 35,890
= 28,200
= 7,690

£ RIIAY K 25,673,311 30,549,578 ~4,876,267
= 21,881,530
= 3,791,781

201 Ler2y| 5,000 5,000 0
= 2,500
[ 2,500

01 At 5,000 5,000 0
O£ Botg 5,000
= 2,500
= 2,500

403 XX SHH S K20l & 25,668,311 30,544,578 ~4,876,267




SA: ARSI
M Qlol AWM A3
chol: T S CER-E
- _ _ NE
S EHB .S (BH) - HRAIY - B2 Of) A o4 e HDZS2
= 21,879,030
= 3,789,281
01 RXESHA=E X 25,668,311 30,544,578 £4,876,267
O INPIIANS 19,190,361
= 16,481,697
= 2,708,664
L =Y =P ] 5,948,200
= 4,989,833
= 958,367
O HRY ES 529,750
= 407,500
= 122,250
SHOIBIIE K& 511,251 787,500 A276,249
= 365, 180
= 146,071
403 THXISHH S K20/ 511,251 787,500 A276,249
= 365, 180
= 146,071
01 KRS A== 511,251 787,500 A276,249
omaLA X 511,251
= 365, 180
= 146,071
AFRIRES M AP BHE A 8,370,751 2,672,809 5,697,942
= 7,281,617
= 1,089, 134
201 YEr2y| 4,500 4,500 0
01 Ar22lt| 4,500 4,500 0
O/rZIAY MBI BAAY 4,500
403 XHXISHHI S K20l & 8,366,251 2,668,309 5,697,942
= 7,281,617
= 1,084,634
01 RXSH =X 8,366,251 2,668,309 5,697,942
OUXMSMAIBIEA  12,500,000,0002 «24% 3,000,000
= 2,500,000
= 500,000
O/ RS MAEHX] 760,000, 0002 74 A <44% 2,340,800
= 2,128,000
= 212,800
OZA+2H 0 40,000,000%34% 13,600
= 12,000
= 1,600
OZHAMAS ZAXH 7,000,000 *330hax44% 1,016,400
= 924,000
= 92,400
OQUASMAOIZH K 50,000,0002 <60% 30,000
= 25,000
= 5,000
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A ME=X

e
ool ATE S4 chol: & 2
_ _ pSNE e
ZM . ERA(ZA) - NFAY - BES Aol @Egj HwsZ
OFSMXABASSSHEX 445,500
= 405,000
= 40,500
OBY£=ESH 130,001
= 122,974
= 7,027
OXF+ ABAL 32,400
=2 30,000
= 2,400
OREXNELMY 95,000, 000! %74% 70,300
= 66,500
= 3,800
O ELINE AMe! 418,050
= 398, 143
= 19,907
OQIMEXPO 2THEAIS 162,500
= 125,000
= 37,500
OUEr?l AME=8 YU (H2YA0) 17,700
= 15,000
= 2,700
OUHEr?l ARI=8t YT (L8 689,000
= 530,000
= 159,000
SREXH 4,190,584 4,775,924 585,340
= 3,444,048
= 746,536
403 RHEISHHSR20H 4,190,584 4,775,924 585,340
=2 3,444,048
= 746,536
01 UXSH=EE 4,190,584 4,775,924 585,340
OYMS HEAL 4,867,500, 0002 26% 1,265,550
= 973,500
= 292,050
OYMSEERASSIN
1,864,900, 0002 *26% 484,874
= 372,980
= 111,894
OYMNSYESHC 5 193,920, 0002 *50% 9,960
= 77,568
= 19,392
OYMSUTBSRSHEAE X2
4,000,000, 0002 *58% 2,320,000
= 2,000,000
= 320,000
OYMES HACCPR B Al & 40,000, 0002 *58% 23,200
= 20,000
= 3,200
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A ME=X

N oo AM 2
ool MBI sS4 (el:@g
_ _ HE T
SA BB H(BH) - MBAY - B2 O A+ 24 il b o HRs2
METRIEES SR X 39,600 82,620 A43,020
2 27,000
= 12,600
403 XX GHRIS XH2 0/ & 39,600 82,620 ~43,020
= 27,000
= 12,600
01 MXISAK == 39,600 82,620 ~43,020
OMTZIEE SR X2
90,000, 000! *44% 39,600
2 27,000
= 12,600
272 5 A & & 840,000 516,000 324,000
3 800,000
= 40,000
307 212+0| & 40,000 40,000 0
02 DINAMBE 40,000 40,000 0
OB EAEY HME A 40,000
403 XX GHRIS XH2 0/ & 800,000 476,000 324,000
3 800,000
01 MXSHT2LE 800,000 476,000 324,000
OSTSEHE = (A7) 800,000
3 800,000
LEAMSIPAE X & 388,000 390,000 A2,000
3 388,000
403 XHXISHAI S XH2 0| 388,000 390,000 A2,000
3 388,000
01 RXISHK2SE 388,000 390,000 A2,000
OUMSLET|EAIE X& 388,000
3 388,000
FTACHEl ZB42 SEXI 235,600 512,720 A277,120
403 RXISHS K20 H 235,600 512,720 A277,120
01 RXISHHX= 2= 235,600 512,720 A277,120
OHSTDM X2 AL XY S 55,000
Og4g S5 5,000, 0002 *100ha*30% 150,000
OXSBAYMAT Z4 30,600
NBYEY  =XEE 29,028,914 21,539,969 7,488,945
3 2,983,557
3 16,939,200
| 600,000
s 217,298
7 = 8,268,859
MEMEIOIE T4 X 2,839,846 4,703,592 A1,863,746
2 109,768
3 2,230,200
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A ME=X

N oo AM 2
Sl MYEY - =XHE (e @8
_ _ _ Muo
SA-EHB . CA(ENH) - HEAY - BE2 Ofl & o il i~ o HRs2
< 499,878
308 X+XIEHHIS O & 131,746 88,742 43,004
= 109,768
= 21,978
01 MXSHZAHSES 131,746 83,742 43,004
OMEMEIOS YR 184,517,000 71.4% 131,746
=2 109,768
= 21,978
403 XX SIS KHZ 0/ & 2,708, 100 4,611,850 A1,908,750
=l 2,230,200
= 477,900
01 XXISHA=EE 2,708, 100 4,611,850 A1,908,750
OMEMEIOIE X4 3, 186,000, 0002 *85% 2,708, 100
=l 2,230,200
= 477,900
MEHE X4 X 2,520,000 475,000 2,045,000
=l 2,100,000
= 420,000
403 XX SIS KHZ 0/ & 2,520,000 475,000 2,045,000
=l 2,100,000
= 420,000
01 LXM=L 2,520,000 475,000 2,045,000
OMEl%E =& 500,000, 00021 *17H 2 x60% 300,000
=l 250,000
= 50,000
OMNBMEISS RIS T4
3,700,000, 000! *1H 2 +60% 2,220,000
3 1,850,000
= 370,000
~2AXH K 7,092,030 3,442,632 3,649,398
= 244,876
3 5,543, 000
= 1,304, 154
308 XHXIEHH SO 277,530 212,632 64,898
=2 244,876
= 32,654
01 MXSHAZHEES 277,530 212,632 64,898
O+SAICILIO0IE SYX &
408,132, 00021 *68% 277,530
= 244,876
= 32,654
403 XX SHHIS K20 6,814,500 3,230,000 3,584,500
=l 5,543, 000
= 1,271,500
01 XCSHA=EE 6,814,500 3,230,000 3,584,500
ouYLSH HY 6,000,000, 000%50% 3,000,000
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Ox==s2XH(E) 5,086,000, 000& *75% 3,814,500
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1,271,500
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Agsey 24 3,557,370 1,797,878 1,759,492
346,204

, 110,000
,101,166
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308 KNHXISHHSOIE 392,370 372,878 19,492

346,204
46,166

3

01 UHXNSHHBLE4EES 392,370 372,878 19,492

O= &t 295,544,000 *68% 200,970
177,324
23,646
O= dej2elel 281,470,000 *68% 191,400
168,880
22,520
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SRR

,165,000 1,425,000 1,740,000

, 110,000
,055,000

H o

,165,000 1,425,000 1,740,000

,165,000

,110,000
,055,000

OXHE2g T (2) 4,220,000,000 *75%
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— N W W= DMN W

H o

,875,757 5,040,597 A 164,840
,051,079
,028,000

796,678
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HoR

308 NXISHHMSOIE 325,357 129,197 196, 160

287,079
38,278

oW

01 IXSHHBAEE2 325,357 129,197 196, 160
OZ Az 2 337,740, 0002 *68% 229,664

202,644

27,020

Ostn=3CIHO0IH =9 140,725,000%68% 95,693

84,435
11,258

o

o

403 A XIEHSXH=01H 4,550,400 4,911,400 A361,000
764,000
3,028,000
758,400

H o W

01 MXISMA=ZE= 4,550,400 4,911,400 /361,000
OEAMs =4 XN¥& 6,056,000, 000:& *60% 3,633,600

3,028,000
605,600
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N oo AM 2
Sol MBEY - =XHE (e @8
_ _ SIEN
SA-EHB . CA(ENH) - HEAY - BE2 Ofl &F o8 il i~ o HRs2
OZAlE DAY 1,000,000, 0002 *60% 600,000
= 500,000
= 100,000
O3tz Z&X 420,000, 000! *60% 252,000
= 210,000
= 42,000
0223 =4 100,000, 0002 *60% 60,000
= 50,000
= 10,000
o223 e 8,000, 000! *60% 4,800
= 4,000
= 800
St S MERE B 3,465,593 1,161,245 2,304,348
= 731,630
=l 1,928,000
< 805,963
201 Y2 Y| 15,000 3,600 11,400
02 ZZ2YHl 15,000 3,600 11,400
OZY 1000H4 BAIOIE SX2% 15,000
202 01t 6,000 0 6,000
= 6,000
01 2L oIHl 6,000 0 6,000
CEEIEINICE] 6,000
= 6,000
308 XHXIEHH SO 285,568 312,873 A27,305
= 285,568
01 MHACSHMALSEZ 285,568 312,873 ~27,305
Oz2LEAY X 184,246
= 184,246
OSatetLQl 168,870, 0002 60% 101,322
=2 101,302
403 RXISHSKHZ0IH 3,159,025 844,772 2,314,253
=2 440,062
=l 1,928,000
= 790,963
01 MXCSHI2E S 3,159,025 844,772 2,314,253
OTAIME SAZHEH| 1,466,873,0002 *44% 645,425
= 440,062
= 205,363
oUZ2s =2 3,856,000, 0002 +60% 2,313,600
=l 1,928,000
= 385,600
OARR SHZ FH S 200,000
NRMSOSE ST 600,000 650,000 50,000
= 500,000
= 100,000
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Ma olgl M Ug
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SN -BH - S(B) - MRAY - BES Off &F o4 e HlmE 2
403 XHXIEHHISXHEO0IE 600,000 650,000 50,000
2 500,000
= 100,000
01 XSS E 600,000 650,000 A50,000
OxURE MSOAH STAY(0IELE 100
O ALbR%E JFRIIAL) 1,000,000, 0008 «60% 600,000
2 500,000
= 100,000
254 FHl X 217,298 198,705 18,593
= 217,298
308 XHXIEHHISOIE 217,298 198,705 8,503
= 217,298
01 HASHBARES 217,298 198,705 18,593
oBs+ FY| 217,298
= 217,298
g2 oo B XY 3.861,020 4,070,320 209,300
] 600,000
= 3,261,020
201 2ere | 4,560 4,560 0
01 At 4,560 4,560 0
OZs 2 SIsAY H24E S 3,000
OL238Bs BN 1,560
202 01t 6,000 0 6,000
] 6,000
01 =UHoit] 6,000 0 6,000
OsM=X B2 £ BEXY 25T 6,000
] 6.000
308 XHXIEHHISOIE 5,760 5,760 0
01 HASHBANRSES 5,760 5,760 0
ORIH=nM BB 24
600, 0002 * 16Al 2 %25] *30% 5,760
403 XX S XH2 0 ® 3,844,700 4,060,000 A215,300
] 594,000
= 3,250,700
01 MXISHA=SE 3,844,700 4,060,000 £215,300
0512l At 2,500,000, 0002 *30% 750,000
Ogi=st 40 BHLESD|
6. 166,666, 0002 *30% 1,850,000
CEESIEE IS 2,169,000, 0002 x30% 650,700
OSM=X B2 ZAY 594,000
] 594,000
HYSABH (MY ST D) 81,800 83,500 A1,700
o= 81,800 83,500 A1,700
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